Making a Solution

To begin, click one of the buttons below to prepare either a sodium chloride, a potassium dichromate, or a potassium permanganate solution.

To begin, click on the flask you will use to make the solution.  Then, click the “Tare” button to zero the balance.

Next, Click one of the buttons to add water or sodium chloride to the flask.

**If wrong flask is clicked, put red X through flask and voice should say
“Remember that you are trying to make 1.00L [liter] of solution”

**If either H2O button is clicked before an add solid button, voice should say
“You must weigh out the correct amount of solid before adding water”

**If incorrect amount of solid is clicked, put a red X through that amount, and Voice should say---Also is Hint 1
”You can calculate moles of solid by multiplying molarity and liters.”

**If incorrect amount of solid for a 2nd time, put red X through the amount, and say
“You can calculate mass of solid from moles using the molar mass of the substance”

** If incorrect amount of solid for a 3rd time, put red X through the amount and say
“1.00 M [molar] x [times] 1.00 L [liter] gives 1.00 mol of NaCl [sodium chloride].  Adding together the molar mass of Na [sodium], 22.99g/mol [grams per mole], and the molar mass of Cl [chlorine], 35.45 g/mol [grams per mole], gives a molar mass for NaCl [sodium chloride] of 58.44g/mol [grams per mole].

Correct.  You need to add 58.44g [grams] of NaCl [sodium chloride] to the flask to prepare 1.00L [liter] of 1.00M [molar] NaCl [sodium chloride].

Click one of the buttons to add water to the flask.

**(If clicked first, put red X through the box, then say,
“You must make sure that the solid is dissolved before filling with water to the mark on the flask.”


You have correctly prepared 1.00L [liter] of a 1.00M [molar] sodium chloride solution.

To Begin, click on the flask you will use to make the solution.  Then, click the “Tare” button to zero the balance.
Next, click one of the buttons to add water or potassium dichromate to the flask.

**If wrong flask is clicked, put red X through flask, then voice
“Remember that you are trying to make 500.0mL [milliliters] of solution.”

** If either H2O button is clicked before an add solid button, voice should say 

“You must weigh out the correct amount of solid before adding H20 [water].”

**If incorrect amount of solid is clicked, put a red X through that amount, and Voice should say,
“You can calculate moles of solid by multiplying molarity and liters.  Remember to convert to liters of solution.

**If incorrect amount of solid is clicked for a 2nd time, put red X through the amount and say 

“You can calculate mass of solid from moles using the molar mass of the substance.”

**If incorrect amount of solid for 3rd time, put red X through the amount, and say
“0.250M [molar] x [times] 0.500L [liters] gives 0.125 moles of K2C2O7 [potassium dichromate].  Adding together 2 times the molar mass of K [potassium], 39.10g/mol [grams per mol], 2 times the molar mass of Cr [chromium], 52.00 g/mol [grams per mol], and 7 times the molar mass of O [oxygen], 16.00 g/mol [grams per mol], gives a molar mass for K2Cr2O7 of 294.20 g/mol [grams per mol].

Correct.  You need to add 36.78g [grams] of K2Cr2O7 [potassium dichromate] to the flask to prepare 500.0mL [milliliters] of a 0.250M [molar] K2Cr2O7  [potassium dichromate] solution.

Click one of the buttons to add water to the flask.

**If clicked first, put red X through box, then say 

“You must make sure the solid is dissolved before filling with water to the mark on the flask”

You have correctly prepared 500.mL [milliliters] of a 0.250M [molar] potassium dichromate solution.

To begin, click on the flask you will use to make the solution.  Then, click the “Tare” button to zero the balance.
Next, click one of the buttons to add water or potassium permanganate to the flask.

**If wrong flask is clicked, put red X through flask, then voice,
“Remember that you are trying to make 100.0 mL [milliliters] of solution.”

**If either H2O button is clicked before an add solid button, voice should say,

“You must weigh out the correct amount of solid before adding H2O [water].”
**If incorrect amount of solid is clicked, put a red X through that amount and voice should say,
“You can calculate moles of solid by multiplying molarity and liters.  Remember to convert to liters of solution.”
**If incorrect amount for 2nd time, red X then
”You can calculate mass of solid from moles using the molar mass of the substance.”
**If incorrect amount for 3rd time, red x, then 

“0.125M [molar] x [times] 0.100L [liters] gives 0.0125 moles of KMnO4 [potassium permanganate].  Adding together the molar mass of K [potassium], 39.10 g/mol [grams per mol], the molar mass of Mn [manganese], 54.94 g/mol [grams per mol], and 4 times the molar mass of O [oxygen], 16.00 g/mol [grams per mol], gives a molar mass for KMnO4 [potassium permanganate] of 158.04g/mol [grams per mol].

Correct.  You need to add 1.98g [grams] of KMnO4 [potassium permanganate] to the flask to prepare 100.0 mL [milliliters] of a 0.125 M [molar] KMnO4 [potassium permanganate] solution.

Click one of the buttons to add water to the flask.

“You must make sure the solid is dissolved before filling the water to the mark on the flask”

You have correctly prepared 100.0 mL [milliliters ] of a 0.125M [molar] potassium permanganate solution.

